FPM2ed, Chapter 6: Project Organization Structure (FPM2ed p.78)
1. Organization Structure
2. Body of Knowledge Mapping

3. Functional Organization Structure

4. Matrix Organization Structure

5. Pure Project Organization Structure

6. Project Office
The following questions have been designed to test your knowledge of the chapter and prompt discussion. Please note that each question could have one or more correct answers.

6.1: Which two of the following relate to a Project Organization Structure? (FPM2ed p.78)
a. A temporary organization structure. 

b. One of the special project management techniques within the human resource knowledge area that enables the project manager to lead and manage a multidiscipline project organization.

c. A permanent organization structure to manage the design and manufacture of the project.
d. A permanent organization structure designed to manage the operation of the project.
6.1 Answer: A and B are correct. A project organization structure is a temporary organization structure that is set up specifically to perform a project, often a multi-disciplined project, as outlined in project charter. It is then disbanded when the project is completed. C is incorrect as a project organization structure is temporary. D is incorrect as the project organization structure does not manage the operation of the project after the project is completed.

6.2: Which three of the following different Types of Organization Structure are suitable for managing projects? (FPM2ed p.78)
a. Functional organization structure.

b. Matrix organization structure.

c. Pure project organization structure. 

d. Pure general management organization structure. 

6.2 Answer: A, B and C are correct. Projects can be managed through a range of organization structures. The functional organization structure is suitable for managing projects within its specialized field. The matrix organization structure offers a more flexible integration of the project and the functional needs by overlaying the project structure over the functional structure, thus giving the best of both worlds. The pure project organization structure is dedicated to run one project, usually a capital project, often in a remote location. D is incorrect.

6.3: In a Functional Organization Structure, which one of the following outlines the level of Authority a project manager has to use company resources? (FPM2ed p.80)
a. No authority.

b. Limited authority.

c. Shared equally with the functional manager.

d. High level of authority.  

6.3 Answer: B is correct. In a functional organization structure the project manager will work for the functional manager. In this situation, the project manager’s authority will be controlled by the functional manager and, therefore, is likely to be limited. A is incorrect as the project manager will almost certainly have some authority. C is incorrect as the project manager is unlikely to share authority equally with the functional manager (shared authority is associated with a matrix organization structure). D is incorrect. 

6.4: Which two of the following highlight some of the Advantages inherent with performing a project within a Functional Organization Structure? (FPM2ed p.80)
a. Functional departments provide excellent technical support for the work carried out within the department.
b. There is quick reaction time to problems within the department.
c. The project can draw on the entire resources of the company. When several projects are operating concurrently, the functional organization structure allows a time-share of expertise, which should lead to a higher degree of resource utilization.

d. The functional organization structure is ideal for multi-disciplined projects.

6.4 Answer: A and B are correct. The big advantage of using a functional organization structure is associated with single disciplined projects within the department where there is the technical expertise and fast lines of communication. 

C is incorrect as this type of resource sharing arrangement is performed through a matrix organization structure. D is incorrect as functional organization structures struggle to manage multi-disciplined projects as the project moves from department to department.  

6.5: Which two of the following highlight some of the Disadvantages inherent with performing a project within a Functional Organization Structure? (FPM2ed p.80)
a. Lines of communication within the department tend to be long and not well established.
b. If the project moves from department to department then there will be no single point of responsibility.
c. The functional departmental work might take priority over project work.
d. The functional organization structure is the most expensive organization structure to operate. 

6.5 Answer: B and C are correct. B is correct as a functional organization structure does not have a clear single point of authority on multi-disciplined projects. C is correct as departmental work might take priority over project work A is incorrect as the lines of communication within a functional organization structure tend to be short, well established and in-house. D is incorrect as the functional organization structure is generally considered to be less expensive to operate than the matrix organization structure.
6.6: Which two of the following highlight some of the Advantages inherent with performing a project within a Matrix Organization Structure? (FPM2ed p.82)

a. The project manager is the single point of responsibility.

b. The matrix structure is simple and easy to operate.

c. The two boss situation (project manager and functional manager) means the workforce can benefit from the opinion of two different experts.

d. Equipment can be shared between projects thus the capital cost can be shared between projects. 

6.6 Answer: A and D are correct. The matrix organization structure ensures that the project manager is the single point of responsibility and enables the project to use companywide resources and equipment. B is incorrect as the matrix organization structure is generally considered to be confusing and complicated to people new to project management. C is incorrect as the two boss situation is generally considered to be a recipe for conflict. 

6.7: Which two of the following highlight some of the Problems inherent with performing a project within a Matrix Organization Structure? (FPM2ed p.82)
a. Matrix organization structures are complex.

b. Matrix organization structures are simple. 

c. Matrix organization structures have a dual responsibility leading to a two boss situation that could lead to interpersonal conflict.

d. Matrix organization structures have a dual responsibility leading to a two boss situation that could lead to interpersonal cooperation.

6.7 Answer: A and C are correct. The topology of the matrix organization structure consists of horizontal lines of project responsibility and authority overlaid on vertical lines of functional responsibility and authority. B and D are incorrect as people new to working on projects find this configuration complex. This arrangement also leads to the classic two boss situation where a worker could be receiving instructions from the project manager and the functional manager.
6.8: Which two of the following highlight Advantages inherent with performing a project within a Pure Project Organization Structure? (FPM2ed p.85)
a. Sharing resources with other departments in the company.

b. The project manager has full authority over all of the project’s activities.

c. All the resources work for the project, there is no sharing of resources with other departments.

d. The company can offer continuing employment as the pure project organization moves from project to project. 

6.8 Answer: B and C are correct. The project manager has full authority over all aspects of the project and does not have to negotiate with any other parts of the company for resources or equipment. A is incorrect as the pure project organization structure is usually an autonomous structure that works independently to other departments in the company. D is incorrect as the pure project organization structure might be set up specifically to make the project and then disbanded, therefore it will not be able to offer long-term employment.

6.9: Which two of the following highlight Problems inherent with the Pure Project Organization Structure? (FPM2ed p.86)
a. Duplication of effort and an inefficient use of company resources.

b. Propensity to stockpile equipment and keep hold of personnel. 

c. The project manager has to share authority with the functional managers.

d. The resources might experience the two boss situation where they are working for both the functional manager and the project manager. 

6.9 Answer: A and B are correct. If the parent company has a number of projects running concurrently, with pure project structures this could lead to a duplication of effort in many areas and an inefficient use of company resources. To ensure access to technical know-how and skills there might be a propensity to stockpile equipment and keep hold of key personnel, which might lead to resources being assigned to the project longer than required. C is incorrect as the project manager works independently to the functional managers and, therefore, they do not share authority. D is incorrect as, in the pure project organization structure, all the workforce work solely for the project.

6.10: Which three of the following relate to the Project Office (PO) Venue? (FPM2ed p.88)
a. The PO venue is where the general manager’s office is located.
b. The PO venue is a place where all the people working on the project can meet.
c. The PO is where the project equipment can be shared between a number of projects.
d. The PO is where all the technical journals can be centrally stored.
6.10 Answer: B, C and D are correct. A is incorrect as the general manager’s office is usually in the main office.
